## Hw 4 Solution

## Problem 4.1

This fits linear model form. り X = HO+H  $\hat{\phi} = (HTH)^{T}H^{T}X$   $\hat{C}\hat{\theta} = \sigma^{2}(H^{T}H)^{-1}$ For p=2, r,=1, r==1 and Neven  $H = \begin{bmatrix} I & -I \\ I & -I \end{bmatrix} \implies H^T H = \begin{bmatrix} N & 0 \\ 0 & N \end{bmatrix} = N I$ since columns are orthogonal  $\hat{\Theta} = \frac{1}{N} H^T X = \begin{bmatrix} \frac{1}{N} \tilde{\Sigma} X [n] \\ \frac{1}{N} \tilde{\Sigma} (-i)^n X [n] \end{bmatrix}$ 

 $C_{0} = C_{1}^{2} I$ 

## Problem 4.2